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No. of Questions : 100
e T TE 100

Time @ 2% Hours | [ Full Marks : 300
WHY : 2V qO2 ] [ gurfE: 300

Note: (1) This question booklet contains 100 (hundred) questions in all (30 in
Section-A and 70 in Section-B). Attermpt as many questions as you can.
Each question carries 3 (three) marks. One mark will be deducted for each

tncorrect answer. Zero mark will be awarded for each unattempted

question.

T ATE-RTHT F Ed 100 (W) 9 & (@ve—a § 30 T wve—g & 70) |
mmaﬂﬁﬂﬂﬁmmﬁaﬁﬁﬂmmmﬁ3&ﬁﬁ}aﬁﬂm%|
meﬁﬁqwﬁmmxmﬂﬁﬁﬁmaﬂum
[ &0 |

(2) If more than one alternative answers seem to be approximate o the

correct answer, choose the closest one.

Ife et dafous TR 9 v @ Bree ud|d § ar fweos HE TR

g |

(3) P.T.O.
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s —- JA
1. Which one of the following is an indicative of the quality of teaching 7
(1} Maintains pindrop silence in the classroom
{2) Raises very standard questions
(3) Students reply in the dassroom
(4) Pass percentage of the students
frey §f 9 T ored AT @ TN & el BT § °
(1) e A Tt iR & Tl
(7) HHAF T @7 gol
(3) BT BT BET H I
(4) et & sl BRI B WG

2. The main objective of a testin class is:
(1) To repeat whateveris taught till now
(2) To gauge educational achieverent
(3) To train students (o pve rvp]f.r' alter thinking
{4) To give practice of wriling
Fell H U@ T @ JeEd B
(1) ¥@ TF 0 @B verd T & TP ATETE
(2) $ftve Suafdr @1 Tl e
(3) Fa?rrfiiu‘iﬁf%raf-ra%qmﬁgﬁ?éﬁ & farg oidfer &
(4) femaer @1 AR TE o
3. The most significant role of a teacher in a class is to act as a person who is
intended to:
(1) Teach content to the students (2) Ensure discipline ameng students
{3y Train the students {4) Guide the students
T ST W) e T A, b ¥ ue W @i o e 8§

(1) o @1 Agaa T (2) oTE B SR @)
(3) BT BT gffee & (4) ot BT AECET @

(4)
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Instruction : On e basis of the following contents, answor the question ninthers
11&12
Rl v awg @ amre gv e &I 11 d 12 F gav @iy -
There are six persons A, B, C, D, E and F. C s the sister of F. B is the brother of
E's husband. D is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in the group. Then answer question 11 and 12 -
B @R A, B, C, D, EaRF ¢ CERTTNBEDRM A 21D, A a7
ﬁm?&ﬁ?Fﬂﬂﬁﬁ%Iﬂﬁﬁﬁﬁﬂ, %ﬁ“ﬁ%@ﬁ?t{fﬁﬁﬁlﬁﬂﬁ]l Td 12
P I §

1. How many male members are there in the group ?
(1) one {2) bwo (3) three (4) four
g A fha gen wewy F 2
(1) UH (2) BT (3) (4) =W

12, How is F related to E ?

(1) Uncle (2} Husband (3) Son {4) Daughter
F.E @ 39 dmidyg 2 7
(1) @l (2) ufy (3)-q= (4) =

13. Which of the following does not belong with the others ?
(1} Guitar (2} Flute (3) Violin (4) Sitar
e o & B s A i 98 R 2

(1) frer (2) @ (3) arafas (4) R
14.  If the day before yesterday was Thursday, then when will Sy ndav be ?

(1) Today (2) Two davs after today

(3} Tomorrow {4) Day after tomorrow

of% e B yrd gewafaR o, | e 7 g 0

(1) & (2) 35 & 51 29 ar

(3) @ (4) B F a7 w2

{7y FTa,
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4. All of the following are applicable for teaching to create good motivation
among students except that teaching should :
(1} be brief
(2) relevant to the pupils
(3) be related to the lesson that follows
(4) always come from the teacher
ﬁmﬁﬁmﬁf@r&mmﬁﬁmaﬁmfﬁwcﬁ%ﬁmﬁ%mw?ﬁ
BIEHY
(1) e wfér e arfed
(2) Rem ot & ageu 891 =y
(3) Py ver =% 9 a2 @ WU BT ARy
(4) fereqor e sranys F sner W

3. Children generally remember those things that they :

(1) learn by doing themselves (2) listen from the mouth of teacher
(3) watch on the television (4) read in books

T A S A B A awd B

(1) =9 v g g (2) Rew & 7w @ gmn 2

(3) T¥ee™ W T @ (4) guerE § gEd #

6. In various teaching methods, which is designed to modify the learners'
behaviour ?

(1) Subject matter (2) Learner (3} The teacher (4) School
ﬁﬁmﬁwﬁfﬂ?ﬁﬁ,%ﬂﬁﬁmﬁﬁ$mﬁwﬁaﬁﬁ%ﬁ%mﬁﬁﬁwm
39

(1) fwa avg (2) arferTaeE (3) Fwew (4) Femes

7. The most powerful barrier of communication in the classroom is :
{1) Lack of teaching aids
(2) More outside disturbance in the classroom
(3} Confusion on the part of the teacher

(<1 Noise in the classroom

(5) P10,
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156. I 1sl Oclober is Sunday, then 1st November will be

(1) Monday (2] Tuesday (3) Wednesday (1) Thursdav
afe 1 aeeas w1 Qe g al 1 AT @1 @r-ar & gr
(1) rTEn (2) ATTER (3) quan (4} Fewiagn

16. 1f 25th of August in a year is | hursday then, the number of Mondayvs in that

month will be :

(1) three (2) four (3) five (4) six
2 Pl e A 25 SR gEERER B S & W T A T AR @) w0
‘ﬂT‘ﬂ i

(1) &= (2) AN (3) wfe i) &

17. TPointing to a woman, a man caid, “The sisler of her mother's husband i nmy
aunt. How is he related to that woman 7
(1) Nephow {21 Father (3) Uncle (41 Brother
v Alivd @) I e wYd BY, Q’F ‘ﬂﬂ S L w6 iy @) aus Ry @
5 ge of HiEer @@ T
(1) it () o (3) @i 14 HIE

18. 1 am facing East. I turn 1007 in the cockwise dirvctinn and then 145 i the
anticlockwise direction. Which direction am [ facing now
(1} Easl (2) North-East (3) North (4) ‘iuutl*-‘ﬂu'mL
i gea @ am A z fmr 109 Tl @ el o faem I[r:ff*‘r”llfm HO00° gEe f ali
qg 145° g rﬁ et @ fada fawm (ma o) A s de fey e w7
(1) o (2) ST (3) Wi (4) E,*T_,“,T.'T_r;ﬁ-';]':;

19. Train: Track::?

{1y Tdea: Brain (2) Bullet : Barrel

(3} Waler - Boat (4 Fame: Television
YA ¢ TR Y

(1) faar - wRaws (2) gele @ 9%

(3) arl : Fwl (4) A cfafras
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20. IfSHARP is coded as 58034 and PUSH as 4658, then RUSH is coded as -
(1) 3568 (2) 3658 (3) 3685 (4) 3583

i3 SHARP &) wiedfe v (@2) & 58034 e W & @21 PUSH &1 4658
®r foar Jmar & @ RUSH & &9 wre frar arom 7

(1) 3568 (2) 3638 (3) 3685 (4} 3583
21. RMSAisrelated to............. education.

(1) Primary (2) Higher (3) Secondary (1) Technical

AR QAT Rien & wafag 2

(1) wrerfie (2) TTm (3) wreafas (4) TwAra
22. 'Gyan Darshan' is related to -

(1) IGNOU (2) NCERT

3y e (4) NCTE

(1) g4 (2) 7 o & &

3) A g am A 4 Ay
23.  Who was the Chairman of National Knowledge Commission ?

(1} Sam Pitroda (2} Krishna Gopal

(3) D. P Singh (4) Ved Prakash

M Sl IMART BT Heley B o ?

(1) ¥9 A= (2) BT T

[_f‘-,} Fodlo ﬁ:l?\' H) ﬁ?; EEaL

24.  Planning Commission’ in India has been renamed as |

(1) Artha Aayog {2) Planning Commission of India
{3} NITI Aayog (4) Vikash Aavog

HRT H il T SEEE @ g S S e

(1) a3l syam (2) <ifir wiem i gfem

(Y Aify amme (1) RBem aminn

(9) P.T.O.
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25.

26.

27.

28.

29,

30.
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Which State has maxumum number of 'State Universibies in India :

(1} Rajasthan
e @ BrE wisy i watwe ooy fovafernea € 2

(1) Il (2) SIS

‘World Environment Day’ is celebrated on
(13 3th September  (2) Sth June
 }

Toeg et @a TEAT FRIE
(1) sfwER B (2) 391 @

When 'National Youth Dav’is celebrated 7
(1) 12 June (2} 12 August
i Tl fRawy wa w9 ©

L which State 'Vishwa Bharati Universily' is situated 7

{ ) Assam

(3} Bihar (4} Woest Bengal
Eren e Peaferen i wer | fug v 7
(1) @ (2) fauraer wew

(%) faEm

Who is the author of the book 'Tgnited Minds'?
(1) Yashpal

(31 A.P.]. Abdul Kalam

SgEy HIgTSd ® odd B E 7
(1) 29T

(3] Uo o Wo e el Bl

In which year Indian Parliament enacted RCEAct ?

(1) 2000 i (3) 1956

o dae 9w gf aReeande aRfRam aemn ?

(1) 2000 (1) 192 (3} 1986

(10)

(2) Uttarakhand  {3) Uttar Pradesh

(3) Sl Yad

(33 15th August

(3} 15 ST 6

(3) 12 January

(3) 12 T B

(2} Himachal Pradesh

i+ gigeas 9T
(23 Vivekanand
(1) Karn Singh

(2) T
(4) Wl fEe

(4) Gujaral

(4] Tl

(4) 23rd January

(4) 23T @

(4) 12 October

(4) 12 ey @

(4] 1yds

by 19493
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SECTION-8B
grg — g
_ ; 1—'\."{,1.—' :
31, The value of hm—-—J—— s ;
r—] {c;_'ps' ‘1"‘12
1 1
1) = 2 — 1
(1) 5 (2) i (3)
lim Eiq-ﬁqugz
= {cos T p)?
I 1
(1y - Z2) — 3) 1
(2) 4 (3)
o {1+1‘3J
32. The value of lim gl — s
v-20 ginT x
(1) -1 (2) 0 (3) 2
3
V=0 sinTy
(1) -1 (2) 0 (3) 2
33.

1+ IR~ IR defined by

‘f.‘tz -2x -3 )
f('lj = \"—1;']——, lﬂfl"lf.ﬂ
[ 7. . when
1s continuous at x = 1.
(1} 4 {2) —4 (3) 2
IR &) aredfaes wwnsii &1 agey 2 AR i T e
T o 3
fo={ "y e
L . ; r=-1
AT ORAIRT e F: IR IR v= -1 R Hag & 7
(i) 4 (2) — (3) 2
(11)

Let IR be the set of all real numbers. For which v

r=-1

¥r=-1
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(4) 0

(4) 0

(4) 1

(4) 1

alue of j, the function

(4) -2

AR
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34.

35.

36.

T
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_— ool ¥ -1 P—
Derivative of sin) ——- with respect to Y s

!L_ s I
0 —g @ =2 B
l+x~ {(1+x7)
5N .i'; —11i GG T
2 2
e 1417 g {1+.\""1] &

day
If cosy = xcos(y +a), then value of :'_ iy
iy

COSd -
1 ]
cos” (y +a)

¥
cos” (i +a}

(3) ——— (4)
sina
. ay 9
qfa cosy = x cosliy+a), @l -d'— &1 A
: " A3
. osa
(1) 2)
cos”(y +a)
2
cos (i +a .
iy B (4)
S
.4 2 d2y
[ i—,—’f—z =1, then value of —= is:
a b dx”
b -
(1] == (2) (2)
a’y nzy%
] il
s 4 il i‘_E G
it b dv?
h? iy
(1) @) 2 (3)
rrjlt_.r?’ 0y

-

l—%
T

b
i

1-x
-

b

sin

cos (Y +a)

cos(y + )

Cirsil

S0 47

il
cos“ (1 +a)

cos{y + a)

CO5 T

b

ay o,

2
i _t,.'

|
I ===
1+
1
() ——s
L+
4 ||r'-.[:,.
P
) il
-
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-I"hr;j ra;jﬁ[!:-; of a thf‘rig‘:‘l! balloon is j!‘lfft‘i;]HjI'!g al a rate of 10 -C‘I'I'lf.*;!_*{‘. When H](‘}
radius is 15 em, the surface area of balloon is increasing at the rate of -

(1) 120 x cm2/sec. (2) 100 m em2/sec.

(3) 1200 7 cm?/sec, (4) 1000 = cm?2/sec,
wﬁavmuar&aﬁ%vsnmﬁrﬁo/ﬂuaﬁﬂaﬂraaaﬁ%;mmaﬁﬁw
153t & @ gw U s aed @) e g

(1) 120 n W8 /%o | (2) 100 = ¥4 /8o

(3) 1200 = A% /%0 (4) 1000 = ¥ /o

A s . ] , Fis
Ihe local minimum value of the function f(x)=(sin*x+ cus4.1'J g 84 e g

15

(1) 0 @) 1 () = u}%

. i >
el f{x};{sin"lx+ms4:r] Eill &1":1?1"1 il 'U’-:.’I*’i;, G HAINTT H 2

| 1 N
() 0 2) 1 (3) | @ 5

The function f{x)=x", x>0 is inereasing on the interval -

. ST |
(1) (e, ) (2) [e, o) (3) L—Jﬁ:"} (4} (-ec, o]
werd f(x)=x", x>0 39 s § gad BT %9 § & .
1
1) (o) @) Ie,%) ® |1 @) (e,
!3
The value of _[sin o .\'I . —dx, 1s (where ¢ being the constant of integration) :
a+x
: Y
(1) ﬁtall_!£+f (2) acos” Vr; +C
-1 /X 1 ,[I .‘4.'_ = llr? ST
(3) xtan™ j=+¢ () rtan™ |- tqtan =AY T
i Va Va

(13) RS
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. My i & " _ N
fain ! |——dx, BT HHA (T ¢ i e BT 3 g )
. i+ X
= Iy
(ly atan l {'—L—i{' {2) aeos T HE
. ‘1i| il i
= 2 -
.-'-. X Yo [ P
(3 .l'lan'"] HJII L (4 xlan ' JE 4 dlan ".'I.-'.'_ - (IT
41. The valuc of jmn Ty, e
i
. 2n Am
{1 5 (2) Y (3) 5 (4) n
fsin Iy @A B
1]
. 2 4
(0 ::T. () = (3) —? (h n
42. The value of fu:ut N w x " ylis |
M
. v
(1) 7-log? () n-log2 (3) S-log2 ) <log?2
Jeot™ (1~ x)dv @A B
(1) m+logl () n-log2 (3) %—tugz 4] :[“Hg

ey -

43. The arca of the region bounded by the parabola ¥ =2y~ 1 and the line
v=y=1,080

32 . 2
= osqounits (4)

“'] g 5q- uniks l:?.} %" 5q. units IllT]

)

S units

15

e % =2y +1 T W W@ x -y = 1% R gy &7 @1 &% 2
16 . Bk e 32 g U o
W Baigpe @ swidPe @ FTAE O 2 it g
. f J 3

(14)
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1 N
The order of differential equation ;—-ll +5in) 2 i |I ={}; s
dx .:f.'l. g

(1) 3 {2} 4 (3) not defined (4) 7

tf if fr. rf'll_rw
HAFH FHEIET T TSN — =0, @ iR (amdy) &

dx? 1:1'1 ]
(1) 3 (2) 4 (3) uRmfier 8 2 (g) 7

The differential equation representing the family of ellipse having centre at
origin and foei on x-axis, is -

L dy 2 N A2y 1 dy )2
{I} .llj——f'r,'[ frjl —1l|.'l f = {?_} *_;i_}_[ﬂf] -._ErE:
dy = dx x dx®  dv %
e'lef i n‘af 1 ﬂ'zi; dy
(3) r—=+ L;Im +y =0 (4) 1. :_+,1:(-‘—|—:'--'D
a? i) N g

d'y  (dyy 4 dy )

{” T'l,l’—';i ﬁ = ﬂ={} {2] M+{ﬂ —ﬂz
d iy ) i:lil.-".. ff 1{'2 ¥l rjrj_'
2 fir £

(3) 1'-I—ifr+u(ij + = (4) vy —# Jif—u)—u:ﬂ
dre L 1 s | Ay

In a bank Principal increases at the rate of 5% per vear. The number of vear in
which Rs. 1,000 double it self, is :

(1) 20 years (2) 10 years

(3) 20 log, 2 years (4} 10 log,. 2 years
aa“léa-rrﬁﬂdi’rﬁ'qﬁﬁﬁ’?amﬁmﬂﬁﬁw'%%aﬁﬁﬁmml Bo I FT L
Bl SR ?

(1) 204 (2) 10 ad

(3} 201log,2 o (4) 10 log, 2 =t

The solution of initial value problem (x - sin Wy + tan iy dy = 0, W =0, s
(1 yp= 5:’1‘1"’{2.‘:’) (2) v=siny

: 1
(3) ¥=lany (4) xsiny+ jcmi]f =4

15 ET0,
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qrefars AF TR (x - siny)dy o+ tan ydx =1, yll N =), @ b e
(1) u= sin '(2x) (1) ¥ =siny

1
3y = lany (4) xs=iny '——1Lm”u =)

48. Assume that a spherical ram drop evaporales at the rate _rr‘lt'upm'f.inlmﬂ 1t
surface area. If its radius originally is 3 mm and 1 hour latter has been reduced

to 2 . The time i which rain drop disappears is:
F Pi

(1) 6hr - (2) 4 hr (3) 3hr (4) 2 hr
a wr e o § fy T derer Al 91 4a & i B 6T SE T
dEmA & GHTEIE & iy gg o FER frgm 3 firdlo & dun UF e T3 TUH

o w4 g 2 e w8 i & dl e o ag o @ 4 Frhwq g = 7
(1) b=t (2) 4 el (3) 3T (2

49. The line normal to a given curve at pach point (x, y) on the curve passes

through the point (2, U). If the curve contain's the point (2, 3), the equation of

CLUTVE 15

: \:l— il .l
() ¥ =@ L w N L., £
':3’ I,Ir: = “1-'5: T ..';'-l {_E} 1"‘ R ELI.I'I 1 - ‘_1 _ 5_1_

o aB B e fag (x, y) WXl shvar famg (2, 0) & AoRal @1 dle 9F
wa R U A (2, 3) R & A7 g wedl @7 W g

-

l P X 3 - _
(1) w=2x-- (2} x°+y° -4x=5
h] L 1 3
{_” _l,"_ =¥+ [_-1} X ¥ 2;;“ T

50. d=i+j+kand =]k are given two vectors. If b satisfying the condition

Al =toand g =3 Thendis:

O L @ Besiesiesi
l1__ —_ e — o __|I.._._|.,__-'
9 B S R

. Ba Fa Qs P
3 h==i+=j+—kK { S e O P
) 3 7373 e i A 3“:}

(16)
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d=i+j+kqon¢=-k o) ufke ARl & oy b g6 voR & B ixb-¢
dd 3T B w8

(1 !7:—[£+—]-f.~—l£f 2) b-

.1‘

2-
—f+—]+
3 33 3 ”3’l
= D3+ 2~ 2- - K. 2. 7.
(3) b=—i+=j+=k 4) b==i-= k
3' 73173 SRS & A

51, If 4,0,¢ are three unit vectors such that |r’§+5+f|"——] and 4 is perpendicular

o . If ¢ makes an angle « and 3 with 4 and b respectively, then value of
COS 0+ cos fis:

2
M 2 @ -3 () 1 @ -1
aft ,b,¢ @i tahd sy AR 56 R E 5 |d+b+d|=1 9w 4, b 7 o=
81 afd ¢, d aut b & FA o TP A A & A cos a + cos p FT AH &
3 3
iy = o 3) 1 1) -
(1) 5 (2) 3 (3) (4) -1

52. Two integers are selected at random from integers 1 to 11. If the sum is even,
the probability that both the numbers are odd, 15

2 3 6

3 Bz @ 5

19111 a% & quiel ¥ ¥ ggesal 6 < qie! & gua fFm omar &) afy ot
F1 AN AH A € T e deal @ v g o e @

1 2
(1) . (2) - (3)

q) 4 )

=

) ==
}ll

| e

53. A class consists of 80 studenls, 25 of them are girls and 55 boys; 10 of them are
rich and remaining poor, 20 of them are fair complexion. The probabilitv of
selecting a fair complexion rich girl is:

5 5
1:' E ': ) I,j_é‘ } m |: } 512
Q‘cﬁaﬁarﬁaa—-rsomu%W?ﬁﬁﬁrﬁiW%ﬂ@‘%ﬁﬂﬁﬁl)ﬁWﬂ*
S Iy BT e £ qul 38 O T U 20 BTE MR I & | U R 3 A0 e

=gl & gafad 8 @ ol €
i 2 i 3 1}
Vs (2 T8 ) 33 30

(17 ) P10,
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54.

55.

56.

57.

Three persons A, B, C thrown a div in sneeession till one get a "Gix" and win the

pame. The probabilily of winning B is :
1 36 = 3
a - 2y = 5 o
1} = 2) o (3) =
i wfdd A, B a1 C U UTH &7 U6 & 915 U a6 db Bebd “8d 8 vid dd Wd
SiieH ® (60 JEed "Six" Td I el o) B v e B wifime §
oA '
). = iy
91 “ 5 W3

—
HJE

] 36

(1) 3 (2)

A die is tossed twice. A 'Success' is “getting an odd number” on a random toss,

The variance of number of 'success’ is :
1 zy o8 3
1 = (2) = |5 0 (d) =
2 3 ' 2
UE TR B G 9R Beol a7 § | WEESAT BF MU R uv R wean g ST U
HEAT B AHEar & W @7 (o) T g 2 7

1 o2
m = @ 3 () 1 @ 2
1 1 1
It m e Nand 1 2 2, then value of | "¢ "¢ wiie T
i.'i-.'C rr.t-lC J'l!’!(: |
3 2 i
(1} ni (2) mf{m+1) (3) | (4) 2
| 1 : —
W om e NTH mz2a e MHG mRRc o B
| .l.'.lcz JJI+1C2 I 3{-.2,
(T} m (2) m(m +1) (3) 1 (4) 2
(2 3 1 4]
The rank of the matrix f‘i:’[l 1 2 -1]ig:
|_ﬂ’ -2 -4 2
B (2) 2 (3) 3 (4) 4
12 3 1 4]
HAE A=|0 1 2 -1 /% ¥ 2
0 -2 -4 EJ
(1) 1 (2) 2 (3} 3 (1) 4

(18)
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; i ' ! T o)
58. If f(x)= log y fog s llog 1 (18x -7 - r"?]'};, then domain of the function fix) is:

(1) (7,11 @ 7 (3) (8, 11) 4) (8, 10)
afe Fixi=log ;:h}g; log - (18x _x* —?F]]‘}, qar el flx) &1 9 (domain) -3
(L (7, 11) {2} 17, 11] {31 (8, 11) (4) (8, 10)

3 § .
cos® 33 —msES?’ i

. 221", 269
Sin” —— —sin” —

—

59, The value of

- |
(1) V2 @ - (3) -2 @ X
2 3
15533 —cos’ 57 )
i 33 cOs 5? F A g_ ;
.2 21 . 268
§iN° — —sin® ——
; 1 1
(1) 2 (2) —= (3) -2 (4 =
N oL A
60. Solutions of equation \"EH—_"C{J-%- tanb =1, are :
(1) 0 =2na.nel (2) lenn—%,ue?_
(3) u::;m%,nez (4) e:n:(zn-l}g,nez
THEE 2 secl +tan0) = 1 &1 w99} 1 &
(1) 0 =2mm,neZ (2) H:Enn—i—,ﬂe.}f
mt 7 pis
(3) G;Eflﬁ-i-z.f!&{f (4} H={2FI—'1}E,HEZ
61. Ifr+5=4i then value of ¥reor? 4350 —xvad s
(1) 160 (2) 16 (3) ~160 (4) 0
A v+ 5=4i @ vV 490 4Byl v d A E
(1) 160 (2) 16 (3) —1e60 4 0
62. The argument of complex number -;I:_ l — s
COs — +isin -
3 3
T T n i
(1) — 2y — 3y - (4)
| 3 ) 12 ) 4 }I 12

(19) P.T.O.
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63.

64.

65.

66.

; ; B EERE e P
s @ e W] (S B

M oo
COS A4 1SN —
'Zi

T 5 g G R
l (2) — ap = 3 ey
m 2) 35 Ol 7
. 3 o | 1.
If e, B are roots of the equation 4x° +3x +7 =0, then —+ﬂ s equal to:
¥
7 7 _ 7 : 3
(1 = (&Y By == CHERE
} 3 J 4 4 ;
afe w, B, TG 4v” 43547 =0 B g &, Lé 7T B
P
a 2 it a7 oy B
3 4 1 7
. P+ 2)(v-5) -2
The number of roots of the equation 0o e
{(r—3Hx+6) rv+d
(1) 0 (2) 1 ) 2 (4) 3
: iz _ 4 : 5
e BEA-0) v el Y e
{(x-3)x+6) x
(13 0 2 1 (3 2 Uy 32
In inequabion — ] 25, the value of ¥ is:
-
(1) (==, 3] (2) [1,3] {3) (1,3] 4 [3, =)
: 2v+4 .. .
ST - ] 25 H x W A E
x-
(1) (== 3] (2) [1,3] (3) (1,3] 4 3 7)

By using the digits 0, 1, 2, 3, 4 and 5 {repeatition not allowed) number are

formed bv using any number of digits. The lotal number of non-zero numbers

15

(1) 1630 {2} 1625 (3) 1030 (4) 1330

(, 1,2, 3, 4975 9®i & g7 g4rg T feal) afh @it weea geiey weenad ) oy
ART & (afeRT &1 geRmgfer Wi T8 8)

(1) 1630 (2) 1625 (3} 1030 (4) 1330

(20)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2477

18U/94/29(Set-1)
67. A polvgon has 44 diagonals, the number of its side is :
{1y 10 (2) 11 {(3) 12 {4) 13
T aggel & fawvl] ® e 44 2, a1 9w o[aell @) wen @
(1) 10 (2) 11 (3) 12 (4) 13

68. Among 14 player 5 are bowlers, in how many ways a team of 11 player may be
formed with at least 4 bowlers ?

(1) 180 (2) 265 (3) 264 (4) 263

afe 14 fRaenfeal 4 9 5 arex & @ @5 0 F9 4 aent 3 W@y 11 e 3 o
fr gdbte ¥ a41d) o TEdl & 7

(1) 180 (2) 265 (3) 264 (4) 263

69. If the coefficients of (r - 5)™ and (2r = 1)" terms in the expansion of {1 + v} are
equal, then value of ' is :
(1) 12 (2) 1 (3) 14 (4 15
&1+ 2" W W s (r — B aE2r = 1)d WGl @1 IO VTEY B, °1 ¢ bl 7

=
i

(12 (2) 13 (3) 14 (4} 15

-

70. S, denote the sum of the first i terms of an A. P.If S5, =35,,, then =L s equal
S

o

(1) 6 (2) S (3) 4 (4) 3
AR S (AL D) @ weH g usl & an S gy FERE & afy §,, =38, & A

23 gy o & -

W

{1) 6 (2) 3 (3) 4 (4) 3
2 2 J)

71.  The sum of the series = + o . E + ‘E b s to n terms is

3 9 27 bl

(1) n—l(3"”+l} (2) i1 ](1‘.'? 1} (3) ;r--lﬂ_g‘”] (4) l{’r'i_-“

- 2 2" E R LY
. 2 8 26 80 5 R
AU St Tt — G TR ARG A L
37927781 !

1 | E o -
(1) n—;iB EEW A2 a3t -l 43 a.—-—t =31 ) =(3 )

(21 ) P L0
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T2.

73.

74.

75.

76.

The variance of following datas
63, 68, 58, 44, 48, 45, 60, 62, 60, 50 is :
(1) 64.1 (2) 8.13 (3) 33.1
Freifg sifergl @7 TER (63
65, 68, 58, 44, 48, 45, 6l, 62, 60, 50
(1) 64.1 (2} 8.13 (3 331
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Google Play

(4) b

(4} 56

7 3
; : imerribod | v circle 4T — e R =05
The area of equilateral triangle inseribed in the circle A7+ y” —6r =8y -25 -0

-
¢

gy,

.JJ-i

e

(3) 30m— 100

(4] 3

ga x 4y’ -6y -8y—25=0 % T Red b WAGE 9 T ane ¢

—_

Jory

(1) 225 (2) —

(3} 30m - 10

{4} A

The sum of the focal distances of any point on the ellipse 9y + 16" =14, is;

(1) 32 (2) 16 (3) 18

4 8

At 9xia 16y? = 14 & faRh famg § aferal o g ST amsd

(1 32 (2) 16 (3) 18

s 3 - "
The eccentricity of the hvperbola 37 —diy= =148

3 5 2
(1) b <ud] (2) ~= () ==

) 7]

=

_:,

i
sfagvaer x” —4y® =1 Iehel (o) BT A 8

o

‘«'ﬁ \-E %

3]

Rl

(4) ¥

The equation of the circle which passes through the origin and cut off intercepts

3 and 4 from the positive parls of x-axis and y-axis respectively, is

i1} .1"3+_|;‘J—3_1'—4_:,r—-[1 (2} v

(3 x*+ yi +dy+3x =0 (4 vyt #3vedy ==

-
- i

1
21

L_JF

]
|
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gy R @ aul v ARy e B O o Q #Ee 3 T8 1w ES
FICH 9Tl g6 DI WHHT &

(1) x2+y*-3x-4y=0 (2) * 4yt -3v-dy=

(3) Jr'?+]_.r2 +dy+3x =0 (4) :5'143;2+3.t+—1];:

I~ 2
"F"|'-'.H et Y

If O is origin, OP = 3 with direction ratios (d.c.s.) proportional to -1, 2, -2, then
coordinate of P is:

1 il 2]

= e (4) (-3,6,-6)

58 $ {

af2 O qeifag &, OP = 3 a1 93 R% @uid (d.cs.) -1, 2, -2 ® WHANA € @
fag P& fdwns &

(1) (1,-2,2) Q) (-1,2,-2) ) [—

1.2 2 .
E o o s A B ()

If the points (-1, 3, 2), (4, 2,2) and (5, 5, ».) are collinear, then value of 2. is:

(1) O (2} (3) 5 (4} 10
afa &g (-1, 3,2), (44,2, 2) 991 (5,5, %) I, O 0Bl A E
(1 0 2y 1 (3) 3 (4) 10

The length of perpendicular drown from the point 2 --f+5£— to the hine
F = (11i —2] - 8k) + 2(107 — 4] ~11k) is (where % is any real number) :

(1) 14 (2) 14 (3) 3 (4) 4

faeg 2i-j+5k ¥ X F= (111 =2 -8K)+ 1101 —4j = 11k) ™ & U ¥ @
T 8

(1) 14 (2) 14 (3) 3 (4) 4

Let ¥ is sample mean of a random sample drawn from distribution
o [1-}={1+{J}x':',[:-e:r=:1,{};~{]. What should be minimum value of ¥ to get

moment estimator of 6 7

() & =

. |
i1} i} :»

] o
I-Jln—

[

(23) PTO.
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e = Rl e | F“J ={1 Jn-EJ:I,"'.'” Hax<l 1> () {\‘{ ﬁﬂﬂﬁ J|'{I Hﬂﬁfﬁﬂ A.aﬁ il
sfrasr wmen ) o ampd Aherd W UG T @ SpRA A ET

1 . !
(2 (3 () —
(2) 3) (4) =

{1}
2

o o U |

el ] 13

81.  There are five applicants for a job. The applicants are ranked from best o the
worst but 1t 15 unknown to the employer. He randomly selects bwo applicants,
Which of the following events has maximum probability of selection ?

(1} The worst and ane of the two boest,

(2) At least one of the bwo best.

{31 Besl and one of the two worst,

{4} None of the two best.

) At & f3y Ui apaell & arsgidldl & T ormt W wE Wi oa Snean
for T B, ©fda Friaa & ¥ oo 79 ¥ 98 aghes v o 9 aenia g
gl v | Frafafga gemell #§ | @i 989 @1 waifees wfadr waor g 7

(1) %49} waerd 3 37 T= arest 4 U6 |

(2} & HaW 3§ U @9 9 @ D |

(3) T e SR &Y TE wWwE H ¥ o |

(4) @ dE #eT 8 T Fe el |

82. There are three bags, each containing a while and I black balis. One ball is
drawn from first bag and placed in the second bag. Then a ball is drawn from
the second and placed in the third bag. A ball is then drawn from the third bag.
Which of the following is probability of selection of a white ball from third bag?

i) a i+l a+

1 2 (3) — 2ygELin. .

i1+ b a+b+1 a+h R

Gld a WHE S b BTl e e g S O £ uwd ds 4 g F g R
T E R gEr et § G Wl 81 R g g9 d A us T P o 2 e
TR et 4 vt el &) B R da d 9 ve e Ped s 2 fre g g e
iR A W o weg e Freds @t aofear & 0

; i1 i . dT k] -

) pa.. 2) — 3 = fy =22

a+h i+ ' i+ b T4+

(24)
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Read the following slatements carefully in conlext of the function given below :

Fixy=1l if x<{)
= 3¢3, if Dex<1
= de=7¢2,  if 1€x<2
=Yc-7c -1, if 2<x<3

— if 3<x.

Assertion (A) : F(x) can be cumulative distribution function of a continuous

positive random variable for properly chosen value of '¢'.

Reason (R) : For proper choice of 'c’, F(x) is monotone and bounded between (0

and 1.

Select your answer from the following codes :
(1) Both A and R is true and R is correct explanation of A.

(2) Both A and R is true but R is not correct explanation of A.

(3) Aistrue but R is false.
(4) A is false but R is true.

Hr feg T wers
F(x) =D, Tfe x<()
=3 e 0<x<l

=de-7¢2,  AfE 1ax<?
= Qe-7¢2 =1, giE 2<x<3

=1, e 3<x.

= wad ¥ Fr=fafad ol o e afey

U (A) : ¢ T wfun 9afia "W @ &, F(x) 50 w0 o9eie aglfes @ @

da e Bl 8 TEdal g |

SR (R):'c' & wylud @93 & o, F(x) thed 3R 03 1% men @fq 2 |

fraferfiaa @et # & a1 9o g4
(1) A3 RS w1 € duT A & Het 2= R 2
2) A SR RS |8l & W= A & U @ RAd 2|

(3) Awel 2fb=y Roea 8
(4} A 7edd € fb=] R @ 2|

e B
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84. A nun-negalive integer valued random variable takes value k with prob ability
praportional to ak{l<a<1) and F(x) denotes its cumulative distribution funchion,
then F(1) is equal to
(1) a (2) 1-a (3) af(l-a) (4) T-a'
w1E Fohee quite HIE didl aERBE 8% aMO<a<l) & WEAEARG Sl@0 B e
"1k orET & 3 F(x) 39@ w9 §o9 e @ walda wan & & )

(1) a (2) l-a {3) afl-a) {4} 1-a-
& TR €|

85. The probability mass function of a random variable X is given below
fixy=x/15; x=1.2.341.8
=4 otherwise.

I'hen the conditional probability that X lies belween 1/2 and 5/2 given that A 1s

greater than one is :

(1) 1/7 (2} 3/7 {3) 2/15 (4) 1/3
urgfesd o X &1 Wiidme] qE) wew A (qhl e e
f(x) = x/15; x 8 18, 881 0
=0 ST |
@ X @ 1/2 AN 5/2 & 7 Tew # ufafya wilear wEfs B o § B X ue
(1) 1/7 (2) 3/7 (3) 2/15 (1) 1/5
& |
86. The geometric mean of the distribution [(x) = 6(x~2} (1-x), for 1<x<2is
(1) (1/16)log(19/6) (2} (1716} it
(3) (1/6) log(17/6) (4) (1/6)
f(x) = 6(x-2) (1-x), 12x=2 & for, g @1 iR Ak g
(1) (1/16) loe(19/6) (2) (1/16) et
(3} (1/6) log(17/6) (4) {1/6) 178

(26)
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87. A random sample of size n is drawn from a population of size N, having mean
woand standard deviation o, using simple random sampling without
replacement. The covariance between any two sample observations will be :

(i) —o/N (2) =/ {N-1) {3) —-o%/n (4) -a*/(n-1)
) p AR AE Ao o e Tl N TR & fhddl whie 3

L . o O N3 & Tt W OH n YTRE T U
mgftos ufteyt we wgfes wfawms W aieeeT wga ww Freten @ g
fb=] & oftey] deoll & weu e

(1) -o*/N (2) —o/(N-1) (3) -o*/n 4) -0/ (n-1)
GIEN

88. The power ofd lestis the probability of :
(1) Rejecting Hp when Hy is true. (2) Rejecting Ho when Hy is true.
(3) Rejecting Hi when H is true. (4) Rejecting Hi when Hq is true.

oy wilen ) iR

(1) Ho @ 3RAI&R @1 o 1 @) 1)
(2) Hy & SRATER HI1 e H, @E 811
(3) H & srdfar &3 wid Hy T e
(4) H, @7 aEdrER H34 79 Hy de e
i i &

89. Which of the following statements is ALWAYS true ?
Snl: Sum of independent Binomial variable is Binomial variable.
S» : Sum of independent Poisson variable is Poisson variable.
S, : Sum of independent Normal variable is Normal variable.
Choose the correct answer from the following
(1) SyandS; are ture but Ssas false. (2) S:and S; are ture but 5y is false.
(3} Si and Ss are ture but &2 is false. (4) Si,S: and 53 all are true.
Erefefag sl & @ FF FEg W 8 7
S, : Tds fug = @1 9 fgug W Eal ¥
S, - T3 @I B9 @1 AN W e ¥ |
S, - TR TETHFG ARE B AR G BB |
fFrefafan i wel 9w A B

(1} S 3RS, ¥ & g S 71 | (2) SRS o & R S Ted # |
(3) S NS T & 9y S: T €| (4) S, S: 3K Sy AW HE B |

(27) PI.0:
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" . . " - . -~ = 14 s i s
90. The equalion of pair of regression lines for 4 given dafa is reported a

4X +5Y + 33 =0 and 20X -9Y - {17 = (L

Statement(S) : We cannot calculate the correlation coclhcient between X and Y.

Reason(R) : 11 is not specific which one is regression of X on Y and which one 15
¥ on X.

Choose the correct answer from Lhwe [ollowing

(1) Sis true and Ris its correct explanation.

(2) Sistrue but R is not its correct explanation,

(3} Sas false but R is true.

(4} Both S and R are false.

ey fRv 7o sffee @ foro wsor v & w@ilaen 4X + 3Y + 23 = 0 3R
20X -9Y - 107 = 0 ) Hife wiaf 2

YT (S): X 3T Y & Fog @awE qid @) T v FE B W 8

FO (R) : U8 72 ffvaa fo i a b Ll U X BT Y W 3 B W Y &l X
T TAT

frfefera & @ get gy gafsg @

(1} S =& 53: SN R oo HE @R 2 (2) ST ij R ﬂ'r e*"*‘ e T
(3) $7d 2 Ty R G & (1) Sane R g1 3

91. If X is a single observation from a Porsson distribution with parameter 2,
consider the following in the context of point cshmation of exp(=32)
AssertiontA) : Unbiased estimators may be absurd,

Reason (R) : (-3}%is the onlyv nnbiased e<timator ol expi=32).
Choose the correct answor from the following :
(1) Both A and R is correct and Rs correct explanation ol A,
(2} Both A and R is correct and R is not correct explanation of A
(31 A s true but R is false.
f-l] A is [alse but R is true.
r grad b 9T AR §0 9 &% Ted w8 o fsfaieg a exp{-3;) @ ﬁqE
WHTR B TEY r[??ﬁ?ﬁ'
FUA (A): T andEe® FRes 8 90 9
BIROT (R) 2 exp(=32) BT (-3 T0HT 590770 000 F i
PR et 4 WE g i vers iy
A SN Rar @il £ afy S o @i arman )2
(2) J%Gﬂ_’iﬂfislq}fﬂﬂ?hvﬁ A BT Rl &iEn R A
(3) AW & Wi Rerd &
(4) A 7TerT & WR] R @80 7

(28)
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Let X1, Xz, ..., Xu be a random sample from normal distribution with mean (

n noo.
and variance 0. HT: = 3°X; and Tr= ) X, then

1 b 1=I
(1} Ty and T: are jointly sufficient for 0.
(2} Only T; is sufficient for 0.
(3 Only Teois sufficient for (0.

{4) Netther I'mnor T- is sufticient for O,

A b X, X, e, X T 0 MR STRE O @79 SUER ge9 W @18 gigle ufied

g afe T = ix, 3 T = i}\: g, ar

1=1

(1} T) 9% T % vy & 0@ eyt g

(2) &ad Ty, 0 & oo gua 2
(3) s Ta, 0 & fm voia #
(4p Ty, 8 T, 0 @ T30 gara 2

In a 2*-factorial experiment, the effect total [A] is given as :

(1) (1)+(a)(b)+(ab)+(c)+{aci~{bc)+(abc)
{2) ~(1)—(a)=(b)-(ab)+ic)+(ac)+(be)+(abc)
(30 —iti+{al-{bi+ (ab)-{e)+(ac)—(be)+(abe)
(4 =(1)a) (D) +ab) i)+ fac)-(be)+{abe)
2°-TuTE AT # wE-aeT (A

(1) (1)+(a)-(b)+(ab)+{c)+(ac)-(bc)+{abc)
(2) ~{1)—-(a}-(b)~{ab)+{c)+({ac)+(bc)+({abc)
3) ~{1+(a)-ib)+(ab)-(c)+{ac)~(bc)+(abe)
(4) =(1)~a)—{(b)+(ab)+(c)+{ac)~(bc)+{abc)
% o¥e a9 2|

—

break’ statement is used for :

(1} to quit the program (2)

{3} to go to the next iteration (4}

(1) T @ S & Ty (
(3) e gfevem 7 s & R (4)

(29)

to continue the program
to quit the current iteration
g weeie & yar Feafaften A @ Qafy fm o 2 2

LT
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The decimal number 102 writlen m ].ﬁlhl]"_',.-' I8

(1) 110011 (2} 110011

(3)

110110 (4 Lioo11o

efdHet 3 102 B agaR ofF wolel § w9 i fen e v

(1) 0110011 (2) 110011

(3)

11001 1 (1 LiOg] L

Calculate the addition using Binary Arithmetic Operation [or: (1011) + (1010} = 7

(1) (10170): {2} (011,

(3)

ARRITIEE (43 (OOTT

A i GO @l wdlr ged gU R T A g B Y

(1011)2 + (10010). = ?
(1) (10110)= (2y (10011)-

A tlip-flop has two output which are
{1} Always0

(3) Always complementary

v [erd-9@ ® a1 eeeye @i Eid 8
(1) g 0

(3) 159 D]

(3)

(2)
(4)

(2)
(4)

(LT ), (£} (OOTUTO):

Always |
Always equal

Had 1
HET TR

An 8-bit register contains the binary value 10011100, What is the register value

after arithmetic shift righl 7
(1) 11001110 (2) 010a1110

(3)

P00 | (4} HHOLEI

v 8-fde efimes | e EiT 10011100 81§59 ¥havey § mitid e wge
1 M T B i s dka Ak B R

(1y 11001110 (2) 01001110

(3

1T {4) 10101150

The decaded instruction is stored im ...

(1) Instruction Register

3} Memory data Register

TH SIHISS-SNede hel Wi 2l 8 7
1) seaEr ey

(3) AAN grey W

—

P

Simpson's formula is applicable to :
(1) odd number of intervals
{3 odd or even number of intervals

R 3 fefoftas § & &9 avgan @

(1) Sidvrer & oy B
(3) RIS e @y Oy fawE g o

(30)

-
A

Program Counter
CPU Registor

U Hhigcy
CPU whavew

even number of intervals

when interval 1s more

o T W B W
A = A0s g9 W
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grafefl @ forg P .
PGSR

0 qitaE @ G AT R A eTHodMe LT & &l il W Hdel e
are-wige U U A led)
| vel YRawt By @ a0 e @ o B W A 6 yeos 3 A0 Yo HIE 8 9T s A
e d] 2| qRaE] AL T S U Sl O dablel dH [pfiergs ] A TAROT W
1 el uften 9T B |

e e W FRenwE o JRRET FE A B A e Eaar Hi § 9 @t

L b

(=)

%, & : N LR S ; i _,~|- o e 1 corT e
3. OMRIA-65 o @ R 81 8¢ o of A sl o o Mg 0] T OMER

B Gebr | BaE OMR Tae-0F &1 8 qedied [l @ )

o g B g e senEr @ Rt @1 @re /A ae—arge 19 F

5. OVR TER-UE @ WeM S W U ¥ A oppAe PAuiRd e Wi gur A 2 gat
F1 el G | TE-oE oavad B gE) we-gRedT @l HAie aof We &7 TR s et
e ferd |

6. &l UHs 3iFe YF UR NTERHTE WEN YEY R Bl 4 AT R 2 @ en der um-
uffehr GF aFHHIE HEdl Y Hlo QRo 36 = 3l ) wiafiedl 4 aaldeeer G ssam

P

7. gudd ufRfiedi § B W uREEE we FYSemh i wnlme 2 il s ot g ausEe
145 0 R B D ET R o M B

5. se-yRam # B HEE @ AR dSEh ST (AL B | e 09T @ dwicia dav v

HIGE GTRTT B Wi GiEd diodisel S gl GuiE § o3 T i T 0
Piduil & SFEI AR —ERe U T 2

9. WG U @ U @ [ dad wB B gd @ el B GE W 3G @l womg ger i
] G U T e W) e dg FeR el BE A

10, g2 & vE an wId g wifdbg goe dger T8 o e &) 0w [ ymm o g
T G med & & vty gt @ wem B n il Jol el wishl Sl 4l gl e g
3k fam S

1. v & % fan g s & JEYS $ MR didl Y@ der sidn il ge o«
AT W |

12, OHET @ Suved awaef affo UHo @R SUR-UFS UWIEl @al/Waw ¥ e o arawm Wi
¢ | wafe apafdal @ we-gieer AR oo Te dRe TER-USG & FTH S0 WY o Wi
&1 A B

13, el Bl O WEE 2 W TEd 9980 e & A R @) st s enl

14, A WY el ofien W amfae e w1 wi w2 &1 g8 Rwalenay g Daifa g
&1 /BT HEAT B/ B |
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FeT-E] H TN @1 Faey TSI dRh g
(1) e GEUs grafiyat &1 Jd

(2) WeT-FE B AN JcaE ST

(3) féwfd & ¥ W HER

(4) weT-mE W AR

8. Objectives of education are decided by :
(1) Philosophy of Education
(2) Sociology of Education
(3) Psychology of Education
(4) Technology of Educalion
R w1 e feiRa T €

(1) fover & g9 (2) e & FHITEE
(3) fReq @1 TS (4) frem &) aH

9. Interpretation of meaning depends upon :
(1) Past experience (2) Psychological state
(3) Present circumstances {4) Economic state
ef 4 T GE BW R w8 L
(1) gd Ma W (2) HATTE W
(3) e aRRefoar w (4) snfeiw fafe @

10. The most important challenge before a teacher 1s
(1} To maintain discipline in the classroom
(2) To make students do their home work
(3) To make teaching-learning process enjoyable
(4) To prepare question paper
Qrﬁﬁ?ﬁiﬁcﬁﬁfﬂ@m@%ﬁﬂ‘fiﬁ?ﬁaﬁ%:
(1) eTT—per § SR T
(2) fenfdi @ S7aT e W I
(3) Freror afeTn wfshar o1 A=TES g9l
(4) TEATH JAR FT

(6)
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